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oZ#H .= A|lB|---]|Z
oxX ::= 0| ZE% | succ K
OoX ::= Z#H.==R | begin ;X end

| for =& times do X od
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0 FEDREBOIZHNLT. BB EXTRDESYEDHS,

1. &[0](o) =0
2. E[v](o) = o (V) VIZHDEM
3. E[succel(o) =€&lel(o)+1 eldHhsdRK

Bl cELEHX, yIZ5, 10 =X IS ERRELET S,
NE o={xXr—5, yr—10 }EELZEIZT B,
I5HE.
Elsuce xJ(o) = €E[x](o) + 1
= 0(X)+1=5+1=6
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1. Cfv:=e] (o)

= update(o, v—£&[el(0))

update( o ,vi~a) (FIRE CFDEHVADEIETOHvi—allE
BHLEHERTRT,

2. Clbegin c,;c, end] (o)

= Clc,l(€lc,](o))
3. Clfor e times do c od](o)
= iterate(€Clc], &le] (o), 0) afE]
f—H
iterate(c,a,0)lF ol c Z aEELEHERZ c(c(---c(0)--))
RY,
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JAa455.L [ =y:=succ x
IR o={xt—a y—bl DEE C[l(o) KO,

ClI'] (o) = update(o, y+ Elsucc x] (o))
—_TC
Elsuce x] (0)= &[ x] (o)+1
= oc(x)+1
—a+1
&2T
ClI(06) = update(o, y+ a+1)
={X—a, yr—a+1}
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15“ 7045, [ = begin y:=succ x; X:=y end
BE o=I[x—ay-bl DEE Mo ERDEK,

C[ly:=succ x](p) = update(p, yr— &[ succ x] (o) )
= update(p, y— p(x)+ 1)
2FY., €[y:=succ x]= Ap.update(p, y, p(x)+1)
RIHR(Z.
e[x:=y] (p) = update(p, x— [ vy ] (p) )= update(p, x—p(y) )
2FY. e[x:=y] = Ap.update(p, xi— p(y))

&2T
e[T (o) = ¢[begin y:=succ x; x:=y end] (o)
= ¢[x:=y] (e[y:=succ x] (o))
= {(Ap.update(p, x+—p(y)))
{(Ap.update(p, yr—=p(x)+1))(Ix+—a,y—bDP}
{1p.update(p, Xx—p(y))}({xra, yr—a+1})
{X+—a+l,yr—-a+l}
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15'] 704 5L [ =for x times y:=succ succ y od&
IREE o = {xr—a, y— bl D&EE C[l(o) RO &K,

ClI 1(o)=iterate(Cly:=succ succ vy], &x]J(o), o)
EX](0)= o(x)= {xr>a,yrb} (xX)=a
Cly: =succ succ y] (p)
=update(p, y—£E[succ succ yl(p) )

=update(p, yrp(y)+2)
Elsucc succ yl(p )= Elsucc yl(p) + 1
= (E[yl(p) +1)+1=(p(y)+D)+1=p(y)+2
Clrl(o)= iterate(rp.update(p, yrp(y)+2), a, o)

= {(Ap.update(p, yrp(y)+2)) ---

{(p.update(p, yp(y)+2))

{(hp.update(p, y-po(y)+2))(IX+=a,y—=b})}}---}

= {(Ap.update(p, yrp(y)+2)) --*

{(Lp.update(p, y=p(y)+2)) (IxX>a,y+>b+2})}---}
= {X+a, y—b+2a} 14



IRIE o ={x—a}IZRL. ROTOITSLDEKES R X,
ol ,=
X>=SUCC SucC succ X
ol,=
begin X:=succ X ; X:=succ X ; od
ol .=
for x times do

for x times do x:=succ x od
od
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